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2nd round –  26th March – 6th and 7th class
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Before beginning the exercise, draw this smiley :-) on the
board. Ask if anyone knows what it is (a symbol used in
emails and chatlines* to denote that you are joking - it
represents someone smiling). As with all western smileys,
it can be best appreciated by being viewed vertically
(Japanese smileys are horizontal).
Key: b7, ¢5, d6, e1, 8, g3, h10, i4, |9

2 Pair work
Encourage the students to make comparisons, e.g.
‘Number 2 looks like a clown’.
Key: 2a, 3g, 4d, 5e, 6h, 7¢, 8j, 9f, 10b
*See note about chatlines on page 11.

12 Quantities

1 Individual work
Difficult vocabulary: earth, belly
Key:
1 a+b) not heavy enough, c) correct
2 a) not tall enough, b) correct, ¢) too tall
3 a) correct, b+c) too long
4 a) not old enough, b) correct, ¢) too old
5 a) correct, b+c) too old

2 Individual work

difference.

When a student has finished, they can then check with their
picture to see how much they have remembered.

15 Crazy conundrums

Difficult vocabulary: crazy, conundrum
1 Individual work

Key: b5, c1, d3, e6, f4

Individual work

Difficult vocabulary: (a) mouse/mice, mirror; (b) get wet;
(c) wear, mask, blackout, street light, cross (v), headlights,
turn (v), hit (v), driver

With very low level groups only do (a).

Key: (a) 2 in front of, 3 behind, 4 in front of, 5 behind;
(b) 6 next to, 7 under; (c) 8 at, 9 towards

Group work
Set a suitable time limit.

Key: (a) The third mouse is a liar! (b) It is not raining!
(c) It was during the day!

16 Family members
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2nd round –  26th March – 8th and 9th class
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Individual work 4 Class work

Difficult vocabulary: touch, hidden, hold, hole, take away * You can either go around the class or get students to ask

Key: b) use, ¢) comes, d) is, €) holds, f) has, g) becomes, Questions at random.

h) spell, i) moves, j) has Tell students they are only allowed to ask one question.
Remember that they will have two of their own questions

Pair or group work
g to ask.

Key: a) the sun (1), b) your name (4), c) the letter M (5),
d) an iceberg (7), e) a sponge (3) f) a box of matches (2),
g) a hole (6), h) ‘incorrectly’ (8), i) a mirror (9), j) half a
centipede (10) Student: Have you ever met anyone famous?
You: Yes.
Student: Who have you met?
32 Giving directions You: | once met Britney Spears.
Student: Where did you meet her?

With a good group, encourage them to ask follow-up
questions. Example:

1 Individual work then group work

Difficult vocabulary: travel, underground, preference,

both, platform 34 Visual game

Students read the text individually, then in groups they 1 Pair work
try and resolve the problem (it is one of simple

mathematics). Difficult vocabulary: a) match, coin

The idea of this exercise is to add a new element to the

Key: imagine that the train for the Central Train Station
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Difficult vocabulary: touch, hidden, hold, hole, take away * You can either go around the class or get students to ask
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) It was Noah'’s ark not

d) He weighed meat.

e) It's a hole so there’s no dirt in it.

f) Josh.

g) Nil - if four are correct, then all five must be.

h) 21. This is the only one that requires a calculation.
Imagine there are seven people called A, B, C, D, E, F and
G. A will shake hands with B-G (six handshakes), B with
C-F (five, A and B have already shaken hands ), C with D-G
(four), D with E-G (three), E with F and G (two), and F
with G (one). 64+5+4+3+2+1 =21

DITTicy apurary: aj cna
<) coin, edge; d) triangle
The idea of this exercise is to add a new element to the
task by getting students to analyse how potentially
difficult the problems are. This makes the problems more
interesting to solve as they turn out to be more or less
difficult than imagined.

Pair work

Key:
a) If you undo all the links in one of the chains (four

(GRS TSRS PUEELES A S & WARY GUAGGOW NAGATIES A IR O SO G

MIND TWISTERS, PUZZLES & GAMES IRrElaNIgRNIe

operations), you can then use these opened links to join
the other five chains together (another four operations).
b) see page 21
) see page 21
d) see page 21

Key:

A man is snoring in his hotel bed.

A woman in the next room is trying to get to sleep.
She gets up, goes to the telephone and dials a number.

Poznamka
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Poznamka
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3rd round –  16th April – 6th and 7th class
1. Read the information below and find out who is who in the classroom.
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® Luke issitting at an end desk and next to Ricky.
@ Emma s really concentrating on the lesson
@ James i copying the notes from the board
@ Rexis looking p a word in his dictionary.
@ Johnis doodiing in his notebook, but he's listening
o Miss Wendy too.
® Ricky s opposite James and he's day-dreaming
@ Oliver isstting at a corner desk. He'sfeeling
very tired today and he's yawning.
@ Julie and Hannah can't hear Miss Wendy because
they are chatting.
® Julie i sharpening her pencil
© Mel s lstening to Miss Wendy.
@ Tom s taking notes, and chewing gum.
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2. Fill the gaps with A E I O U. The pictures will help you.
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You know that eating too much chocolate and too many chips can be bad for you; however, lots of
fresh fi and vegetables are good for your health. Look at Mr Healthy and Mr Unheal(hy They've
both written down all they have eaten today, but unfortunately all the vowels are missing in their
lists. Fill the gaps with A E | O U. The pictures will help you.

Mr Healthy Mr Unhealthy

sk and ch_ps
wehoe i m__5s_

wsp_ey mb c_rry,
Ve and br_

o ppl_p__ and er_ _x

o




3rd round –  16th April – 8th and 9th class
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d) An assistant in a butcher’s shop is one metre ninety tall.
What does he weigh?

@) How much dirt is there in a hole in the ground which measures
1.5m by 3m and is 1m deep?

f) Josh’s mother has three children: one is called April and one is called
May.
What is the other one called?

g) Krystal has five letters and five addressed envelopes.
If she puts the letters in the envelopes at random (i.e. without looking at
what she is doing), what are the chances that only four letters are in
their correct envelopes?

h) Seven people arrive at a business meeting.

How iy handshaks doss st makey | gl i
5 L o) 777
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2.  Match the beginnings of the jokes (1-7) with their endings (a-g).  Underline the correct form of the verbs in italics.
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1) Workiin pairs. Match the beginnings of the jokes (1-7) with their endings (a-g).

1 Teacher: Frederick, this letter from your mother, it looks like your handwriting
Pupil:
2 Teacher: Where's your homework on memory?
Pupil
Teacher: Isabelle, you should have been here at 9 o'clock.
Pupi:
4 Pupil: Help, I've lost my memory.
Teacher: When did this happen?

Pupil

5 Teacher: You weren't at school last Friday, Thomas. | heard you were out playing football all day.

Pupil:
6 Pupil: Please Miss, there’s something wrong with me, | can see into the future.
Teacher: That's incredible. When did your problem start?
Pupil: p—
Teacher: Which country do you like the best?
Pupil: Kyrgyzstan
Teacher: Can you spell it?

Pupi

Podepsat

Poznamka
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Teacher: When did this happen?

Pupil:

Teacher: You weren't at school last Friday, Thomas. | heard you were out playing football all day.
Pupil:

Pupil: Please Miss, there’s something wrong with me, | can see into the future.

Teacher: That's incredible. When did your problem start?

Pupil: p—
Teacher: Which country do you like the best?

Pupil: Kyrgyzstan

Teacher: Can you spell it?

Pupi

a) | forgot / have forgotten to take it home, so | couldn't do it
b) | changed / have changed my mind, Spain.

<) Itstarted / has started next Thursday.

d) That's because she borrowed / has borrowed my pen
 borrowed

@) That's not true Miss, | did not play / haven't played football. I've got the cinema tickets to prove it.
f) When did what happen / has what happened?

9) Why, what happened / has happened?
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